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H7HA LHM

bl = g = o8 o4 & 2
WRoE oW o= od|
22 # W o= dl 45,380,974
Bl | Sed 2A42S(A) |3
S o |A 45,380,974 (1+2+3)
e ! 18,500,335
2 ¥ = 2 4 2,257,040| 12.2%|4 x 0.122
TES s 20,757,375 (4+5)
= - 3,415,001
& o= o8 2|7 738,962| 3.56%B x 0.0356
A2 o8 2 8 =258 209,649| 1.01%(8 x 0.0101
A 2 2 8 29 655,836(3.545%|4 x 0.03545
2 a3 2 8 20 832,515 4.5%4 x 0.045
Loy 2 8 2 |1 84,93012.95%|9 x 0.1295
M jEH B OR 2R %
ALINUHHSNZEEA13 215,348| 0.32%|(A + 4 + 6) x 0.0032
Aol oF ® SRRl |14 1,996,673| 2.98%|(A + 4 + L/1.1) x 0.0293
g 3 2 ® H|5 201,888 0.3%|(A + 4 + 6) x0.003
S A0 BEL42 16
Bl SIS SUBXSEE44117 54,51000.081% (A + 4 + 6) x0.00081
o B F ul|8 3.836,024| 5.8% (A +B) x 0.058
S o | 12,241,336 (6:18)
& 2 A D 78,379,685 (A+8+0C)
2w B o2 dlE 4,702,781/ 6%|D x 0.06
ol 2 F 2,457,723| 6.52%|(B + C + E) x0.0652
B oJ 2 A 2 Hg 178,994
= 2 ob H 85,719, 183 (D+E+F+0)
ZBIESCEIN | 178,994
£ % b XM 8,589,817 10% (H + 1) x 0.1
= 2 o K 94,309,000 (H +J)
3 2 O M oL 4,691,000
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& Al L 2HI M= HI e H
=3 & e 7oA M & Ot = 9 e Ot = 9o e It = 9 =] = o .
© O & SATX FHUIS. 67,296,310 18,500,335 45,380,974 3,415,001
1. CH 31,656,808 7,869,529 21,581,151 2,206,128
SA(AU) 1,565,183 1,085,537 479,646
4 o =8 1,222,853 769,799 453,054
Al BtEE X 2l ZdelE - 22E=H 7| m 2,983 20,881 2,897 20,279 86 602
OI=Al HIEH NEARE(SHE) 67.5 m 17,807 1,201,972 11,104 749,520 6,703 452,452
HBHESHEL L ZH & 342,330 315,738 26,592
M= Al BHEXEI Z3CE - 22E=HE 4 m 2,983 11,932 2,897 11,588 86 344
+=HHQEE(SHE) 28] 38.097| m 7,369 280,735 6,680 254,487 689 26,248
ANEX EH 1 A 49,663 49,663 49,663 49,663
At 9,979,198 1,060,492 8,903,613 15,093
2,607,788 737,244 1,858,870 11,674
WA 2EXE(FN(15),84: 2| SET 559,827 1,119,654 280,745 561,490 274,895 549,790 4,187 8,374
by SISl MRS 27004 1] & 1,040,000 1,040,000 1,040,000 1,040,000
=l ANRS stEa ARLES 224,067 448,134 87,877 175,754 134,540 269,080 1,650 3,300
7,176,366 167,336 7,005,730 3,300
W 2)ISU =43 684 1 A 4,040,000 4,040,000 4,040,000 4,040,000
S =4S LPLES 436,612 436,612 167,336 167,336 265,976 265,976 3,300 3,300
o= £X DWA ZHEE CAME L BLEN 180,000 180,000 180,000 180,000
EXEPN =4S AN 1] &l 2,519,754 2,519,754 2,519,754 2,519,754
At 195,044 155,912 39,013 119
2 =T HY SLUSA 22 LBLES 150,968 150,968 149,955 149,955 1,013 1,013
X/ LBEUE ZAMIH 2= L BLEN 6,076 6,076 5,957 5,957 119 119
s 2 Z(Lever ®) 1| EA 38,000 38,000 38,000 38,000




& Al L 2HI M= HI e H
=3 & e 7oA M & Ot = 9 e Ot = 9o e It = 9 =] = o ol .
Ch. |IHEH SA 7,891,545 3,794,563 4,071,687 25,295
1 CHELDl WX A & ML 1,533,748 941,748 592,000
CHELDl Wl 4100 & 235,437 941,748 235,437 941,748 U242
CHE Dl N4 AHOIE HE #D] 4 = 148,000 592,000 148,000 592,000
CHE Dl WA L2532t SFA 2044 2,360,000 2,360,000
el w Al StEI| > HD| 1 A 2,360,000 2,360,000 2,360,000 2,360,000 L2272
HIEEIY & A= LA g o HME=SA(4HH) 1,833,793 1,484,811 323,687 25,295
Bt et =2l (HtE 30mm+2t 5mbtEt, 0.04~0.1001GH EHY 20.7| m 59,358 1,228,709 56,194 1,163,215 1,942 40,199 1,222 25,205/ ?|28& 2
Zel 25 AMS 410 & 78,886 315,544 41,386 165,544 37,500 150,000 U L322
HE wiH =4 4100 A 72,385 289,540 39,013 156,052 33,372 133,488 2332
IS =7 WXl g o HME=SA(4HH) 324,088 224,088 100,000
Bt == 23 4100 A 12,928 51,712 12,928 51,712 2342
BiE ==+ &X 4100 & 43,094 172,376 43,094 172,376 U P35 2
ot=7 E™ M/ Ee XtetE 41 25,000 100,000 25,000 100,000
&R N o HMESA(4HH) 1,839,916 1,143,916 696,000
Ex+d EH 410 & 56,503 226,012 56,503 226,012 2 R36E2
EX+d £X =g 4100 & 188,344 753,376 188,344 753,376 ULR7E 2
=== AN EXE 41 100,000 400,000 100,000 400,000
MBI =8 EH 4100 & 6,855 27,420 6,855 27,420 U P38 2
M =8 &X 4100 A 34,277 137,108 34,277 137,108 22392
==X NEHE 41 M 74,000 296,000 74,000 296,000
Or2AlE EH| 12,220,882 1,928,937 8,126,205 2,165,740
delx EYE Fdl 8,451,785 786,643 7,659,402 5,740
2= 2 O HY Fel & 0t 1 1] &l 493,175 493,175 478,671 478,671 8,764 8,764 5,740 5,740/ 2 1402
oz EA 1 Al 258,610 258,610 307,972 307,972 -49,362 -49,362 LR41E2




& Al L 2HI M= HI e H
=3 & e 7oA M & Ot = 9 & Ot = 9 e It = 9 =] = o
oz &x SISl HsUH2 1] &l 7,700,000 7,700,000 7,700,000 7,700,000
JIEFSAM 3,769,097 1,142,294 466,803 2,160,000
TOS EX(2SXHH) YROIE /e 50| JH & 1,655 82,750 1,655 82,750
OFNERHE ZZ(ZSXH) 1A 568,327 568,327 493,927 493,927 74,400 74,400
JeHOolE oFE Sl SEXI(&27 IIPLES 26,203 288,233 33,575 369,325 —7,372 -81,092
S2eey noas MA =48 0Fel 1 A 2,160,000 2,160,000 2,160,000 2,160,000
Or 82t HISEtY 2= OFel 2% 2.5/ m 44,375 110,937 12,317 30,792 32,058 80, 145
=58 HOolZ &X ARS Z0HQ A2 50| m 5,177 258,850 3,310 165,500 1,867 93,350
HEE U &X L PLES 300,000 300,000 300,000 300,000
EISH 25,419,008 3,706,225 21,681,854 30,929
CEZA Sa MYl H9H 322,939 293,709 29,230
MHEE Al HHE X2 ZdelE - 22E=H 5/ m 2,983 14,915 2,897 14,485 86 430 LIAEF X
SHHOEE(S2E) 23] 41.8/ m 7,369 308,024 6,680 279,224 689 28,800 LA2F X
ES3M 3,848,935 1,408,725 2,424,275 20,935
ANSEES 559,827 280,745 274,895 4,187
2H=E Wi Soase=2 1| SET 559,827 559,827 280,745 280,745 274,895 274,895 4,187 4,187
=4S 3,289,108 1,122,980 2,149,380 16,748
2etE wxl =AS 4| SET 822,277 3,289,108 280,745 1,122,980 537,345 2,149,380 4,187 16,748 f
SEJ| & WA ANRS 1,997,716 1,457,280 540,436
22| XD HH2 Wl ANRS(SHEAE) 1] &l 1,997,716 1,997,716| 1,457,280 1,457,280 540,436 540,436
Or2AlE EH| 18,756,239 495,752 18,250,493 9,994
OrlE8 2t HISEtY 2= OFAAI & 0.675| m 44,375 29,952 12,317 8,313 32,058 21,639




& Al L 2HI M= HI e H

=3 & e 7oA M & Ot = 9 & Ot = 9 e It = 9 =] = o ul .
ZERSH JiZErd AIS |AIRS(CIXQN 28 1] &l 18,000,000 18,000,000 18,000,000 18,000,000 221088
gz Jls 8 1 A 286,415 286,415 355,031 355,031 -78,610 -78.,610 9,994 9,994 2 (53% 2
24 8H Del uHAXl ERSH 8|02 17,484 139,872 16,551 132,408 933 7,464 U R54E 2
248 0 4X U PLEN 300,000 300,000 300,000 300,000 2LA15E2
H&Z2t i 493,179 55,759 437,420
&2t 2 B NEX HH & & (25 1] & 57,724 57,724 55,759 55,759 1,965 1,965 U552
FYAE EHl 1 A 435,455 435,455 435,455 435,455 221068
SolEX EHl 10,220,494 6,924,581 2,117,969 1,177,944
FHESSLLHNEH 1,171,585 690,062 481,343 180
A U2t 22 WEAX (£=)60cm — (B1&)120cm 558,431 278,890 279,541
TR ESTSAZ 2 50+50, 2.0T 70 M 18,410 130,711 18,410 130,711
TEESTSAL2E 2 30%30, 2.0T 1.3 M 10,860 122,718 10,860 122,718
ZESHELEX(EF) LEHETH 0.0388| Ton 5,543,510 215,087 5,132,880 199, 155 410,630 15,932 U P58% 2
o F ZEA 1| kg =370 =370 =370 =370
EH HIELHSDI 1 m 1,720 1,720 1,670 1,670 50 50 U R59& 2
=S00IHER 13 5/ m 5,103 25,515 4,258 21,290 845 4,225 2260&2
SHHEE(RE) 23] 5/ m 12,610 63,050 11,355 56,775 1,255 6,275 2UL61E2
stE 7R AdZEX HRE 22 o4DI(2,35/2H L) 303,908 219,292 84,616
STSEH 2 EH(STS304 2B) 5.0T 0.0188| Ton 3,800,000 71,440 3,800,000 71,440
TEHEMZLLR(EE) LEHETH 0.0171| Ton 5,543,510 94,793| 5,132,880 87,772 410,630 7,021 U582
0 Z ZEA 1.7] kg =370 -629 =370 -629
WHEE £X ® 160l ot 8| M 17,288 138,304 16,440 131,520 848 6,784 22622
£otE 7S EURt &1 |28 satE 274,311 163,522 110,789
TEESTSHE 2 ©50.8, 2.0T 70 M 13,960 99,116 13,960 99,116




o= o & A L 2HI M= HI e H " 2
& Ot = 9 e Ot = 9 e It = o =] = o
5,543,510 87,586| 5,132,880 81,099 410,630 6,487 U P(58% 2
=370 296 =370 296
17,288 69,152 16,440 65,760 848 3,392 U622
18,089 18,089 16,048 16,048 2,041 2,041 2?1632
664 664 615 615 49 49 U L6552
34,935 28,358 6,397 180
116,454 34,935 94,527 28,358 21,326 6,397 601 180 | 2166& 2
& 15,487 10,234 5,253
15,487 15,487 10,234 10,234 5,253 5,253 R =]
2,578,865 1,973,302 529,795 75,768
685,070 474,250 204,810 6,010
68,507 685,070 47,425 474,250 20,481 204,810 601 6,010/ 2 <I67&2
492,821 489,348 3,473
19,620 451,260 19,620 451,260 LR75E2
1,807 41,561 1,656 38,088 151 3,473 URATTE 2
341,722 256,612 15,580 69,530
5,405 162, 150 5,405 162, 150 22802
89,786 179,572 47,231 94,462 7,790 15,580 34,765 69,530
633,560 347,130 286,430
HE X2l 28 (Ch=0.3mm 0] 6,251 125,020 2,507 50,140 3,744 74,880 LR81E2
ZAelEFZEE (CW=0.3mm Ol &) 50,854 508,540 29,699 296,990 21,155 211,550 U822
425,692 405,962 19,502 228
82 HNH(BIE) 33,240 33,240 30,780 30,780 2,460 2,460 22832
684 25,992 474 18,012 204 7,752 6 228| L (842




2z 2 g A A sz o9 g A =t M2l 3 B
¢ | =3 w | e | 3 4 | = | 3 9 | @xN | 3 o

S8 =8 <RIl e s g 1P/ ES 343,848 343,848 337,110 337,110 6,738 6,738 2852
E2s Bl DA 4 m 5,653 22,612 5,015 20,060 638 2,552 2862
SHELMASH 709,751 410,967 298,556 228
23cE dg:E+ 633,560 347,130 286,430
2ACERZES HEHH2IZH (CW=0.3mm O] 201 M 6,251 125,020 2,507 50,140 3,744 74,880
ZACIERZE S = S (CW=0.3mm O] 4&t) 10| M 50,854 508,540 29,699 296,990 21,155 211,550
JIEFS A 76,191 63,837 12,126 228
282 EA(GIE) 1] &l 33,240 33,240 30,780 30,780 2,460 2,460
HBHEE X2l M3 T2 HEN(GIE) 2AX 380 A 684 25,992 474 18,012 204 7,752 6 228| & 9
s3E 22 1P/ ES 16,959 16,959 15,045 15,045 1,914 1,914
HSELnHSH EUZ JI1=A WA 572,040 66,710 505,330
HE=EEN 10| kg 1,662 16,620 1,539 15,390 123 1,230 2882
SESHELX(SE) ABHETH 10| kg 5,542 55,420 5,132 51,320 410 4,100 2UP89E 2
sl 222 II=A =2 M 11 M 500,000 500,000 500,000 500,000
N TS s BN 2R e 2,826 2,507 319
DAHA 0.5/ m 5,653 2,826 5,015 2,507 638 319
OdE B AASSYLH M2 349,273 276,755 39,710 32,808
STSE o1 2HEH(STS304) 6.0T 0.005| Ton 3,400,000 17,000 3,400,000 17,000
o = A 0.452| kg -370 -167 -370 -167
SEHSHMELLI(HF) LUBHETH 0.0043| Ton 5,543,510 23,836 5,132,880 22,071 410,630 1,765 2582
WIHZE AX ®160| ot 4| M 17,288 69, 152 16,440 65,760 848 3,392 2URA62E 2
EHgME Y 2 2Ton 4| hr 59,863 239,452 47,231 188,924 4,430 17,720 8,202 32,808




o . s R (=TT NET] 2 dl -
D= E=1 = [l =]
=< = ° ToA + ¥ e =" 2 o =3 = o e I} 2 o =" 2 o o
HAE /S WIS O M A 2,550,300 2,526,060 2,026 22,214
EfQl BHERE A 2|4 41,386 82,772 41,386 82,772 ST
JIEE HIS AT B DHAIG o|MA| 1,125,640  2,251,280| 1,114,533 2,229,066 11,107 20,0142 |92 % 2
Ze o =R R MBS 2| M A 108, 124 216,248 107,111 214,220 1,013 2,026 QU Q|0E 2
Y LYMHSH 8 | 1,000,000 1,000,000
=23 HAE YIRS 1 Al 1,000,000 1,000,000 1,000,000/ 1,000,000|21 =2& =
S =S O DIEEIE 24 (404) 82,843 47,180 35,663
G =Ei=]=PN HOelZH(CH=0.3m Ol  1.05] M 6,251 6,563 2,507 2,632 3,744 3,931 S
nopERYEa Q2 (CN=0.3mm Ol &) 1.5 M 50,854 76,280 29,699 44,548 21,155 31,732 QU 2IgPE 2
SNSSYIRIHSSH HAE B 40,318 16,170 24,148
=oplERdwa HOIMeIZH(CH=0.3m OI|  6.45 M 6,251 40,318 2,507 16,170 3,744 24,148 S
S MBI THRIS OIEZICH B 18,065 7,245 10,820
noplERgEL HOM2IZH(CN=0.3mm 0|  2.89| M 6,251 18,065 2,507 7,245 3,744 10,820 U1 2
Al2| 3 THHI S O OIEZICH B4 125,768 69,991 55,189 588
=oplERdwa HOoiMelZH(CH=0.3m 0|  9.38 M 6,251 58,633 2,507 23,515 3,744 35,118 QUSIB1E 2
co=3(232|E) 0.08| m 68,507 67,135 47,425 46,476 20,481 20,071 601 588|2 9l67 2
5. |SANSUYTIHYESH 1,003,373 807,398 129,817 46,158
ASEHERI| L 2FI|) o2, 2013t 0.3 Ton 71,202 21,360 71,202 21,360 CHAGE X
EIES SHBHE) 1 Al 110,840 110,840 102,640 102,640 8,200 8,200 o907




& Al L 2HI M= HI e H
=3 & e 7oA M & Ot = 9 e Ot = 9o e It = 9 =] = o
et SYMMAME, AEEEHS 1 2l 871,173 871,173 703,398 703,398 121,617 121,617 46,158 46,158
EN Al 67,296,310 18,500,335 45,380,974 3,415,001
28 =Rl 12.2| % 2,257,040
MHEE = 3.56| % 738,962
IEBEE= 1.01] % 209,649
HUEER 3.545| % 655,836
fal= it 4.5 % 832,515
Lo RABE=E 12.95] % 84,930
AEIAHHSN=SESAES 0.32| % 215,348
A OFM 24 22| I 2.93| % 1,996,673
SZ2 NI 0.3 % 201,888
SI=2UHSN=SES=+8 0.081] % 54,510
JIEtEHI 5.8/ % 3,836,024
T3 ARt 78,379,685
2pkateldl 6| % 4,702,781
ol 6.52| % 2,457,723
HII=xeldl 178,994
St 85,719,183
SOIHLXIA 10| % 8,589,817
E=Ry 94,309,000
2t = XHAH CH 4,691,000




& A L 2HI M= HI e H

=3 & e 7oA M & Ot = 9 e Ot = 9 e It = o =] = o .
SSAHI 99,000,000
S AT O 4,691,000 4,691,000
BHIE(OIXIHE) 1200x t 30mm 45/ m 26,400 1,188,000 26,400 1,188,000 AlEHS:
SEIHE(OIXIHE) 1500x t 30mm 70 m 33,000 231,000 33,000 231,000 AEHS:
EHUNE(OXIHE) 1800x t 30mm 10| m 39,600 396,000 39,600 396,000 AlEHS:
LEDEH A Z & LIS SST-1055,2W 60| EA 14,600 876,000 14,600 876,000 AEHS:
=2 2 M 1000%400 10| EA 180,000 1,800,000 180,000 1,800,000 AEUHS:
=2 & H 700%700 1| EA 200,000 200,000 200,000 200,000 AEHS:
HOIEXelbl 178,994 178,994
HOI2Xell SYEAHLHME 2| Ton 67,377 134,754 67,377 134,754
HOIS 28| (& XHELEH) 30kmOlot, EZ 158 2| Ton 22,120 44,240 22,120 44,240




USIHII SR E

s B g dg 7 A =g g A =2l MEH 3 tl i}
NRE=E= MEd Al BHE X 232 E - 22E=H m 2,983 2,897 86 0
H2s = =HHUEE(SEHE) 23| m 7,369 6,680 689 0
3= = ANEX EH &) 49,663 49,663 0 0
M4sH 2ME wH SEX(F0(15), 2934 SET 559,827 280,745 274,895 4,187
NibE H 2MHEs EH D) EN 69,170 67,814 0 1,356
He6s H 2MES &X B~ 138,340 135,628 0 2,712
M72 5 FsF9 22EEEH m 4,934 4,397 537 0
H8s = U2 =al NRS stEa IH A 224,067 87,877 134,540 1,650
H9s H SZ20 X wiH B/ EN 284,466 82,616 200,200 1,650
H10s = =20 88X EHA o 32,822 9,532 23,100 190
s = SZENEX K-8300 H 109,411 31,776 77,000 635
M12s = S20is XX MHEH 2= o 32,411 31,776 0 635
M13s = oss Xl Wil B/ EN 149,266 82,616 65,000 1,650
M14s = o= X #EH N 17,222 9,532 7,500 190
M15s = HHE AU £X A 300,000 0 300,000 0
M6 = L=e Xl &x N 57,411 31,776 25,000 635
M17s = QUAHCE SMHeE-23 2 m 14,402 10,522 3,880 0
H18E = U2 =al =4S A 436,612 167,336 265,976 3,300
M19s = OXg Z0oig £X DUA ZHEE CAIE S| WA 180,000 0 180,000 0
H20&8 5 ArE ZHoi gl =4S 3SMITH = 2,519,754 0 2,519,754 0
M21s = 28 2 =SHH Y SUSA EE2 B~ 150,968 149,955 1,013 0
H22s 5 28 2 =sHH HY NEsSH D) 108, 124 107,111 1,013 0
235 = COHE £X / dBE0E 2MEIMIH EE B~ 6,076 5,957 0 119
H24s 5 CHHOI wH D) 235,437 235,437 0 0
255 = CHetor # 07 B~ 54,331 54,331 0 0
265 = ol &X ) E 181,106 181,106 0 0
M27s = CHE Ol Al SHHI| > D) = 2,360,000 0 2,360,000 0




USiTi7 SR E

=1 o 7 33 = & A L2 =] 3 dl )
L2 (HHE 30mm+e 5mm) |HHE, 0.04~0.10015H(EFLC, ©H m 59,358 56,194 1,942 1,222
Etl2(HIYS M2l) BHEBl 1:3, AIBIE, 2cf €& m 0 0 0
nz27| BtS, 24mm Olot JIE m 12,317 12,317 0 0
2 EHHS 5mm AlSHI 0.04~0.100I5}, EtC, WA= m 47,041 43,877 1,942 1,222
E= A3 D) EN 78,886 41,386 37,500 0
wH =4 B~ 72,385 39,013 33,372 0
=== A B/ EN 12,928 12,928 0
== &X IH A 43,004 43,094 0 0
=& EH B~ 56,503 56,503 0 0
=& &X 3= IH A 188,344 188,344 0 0
| =& &N B~ 6,855 6,855 0 0
J =& &X IH A 34,277 34,277 0
=) 21 Bt el € 0t =28 &) 493,175 478,671 8,764 5,740
=l = 258,610 307,972 -49,362 0
X SISl Hsd2 = 7,700,000 0 7,700,000 0
IS EX (22 XHH) TR0 /e A 1,655 1,655 0 0
2 e MA =48 0F2 A 2,160,000 0 0 2,160,000
2l 32t HIEEY 2= o2l & m 44,375 12,317 32,058 0
Olg HMGEIN EX(2SXM) D/ EN 26,203 33,575 =7,372 0
HMHE wH SaEYU2 SET 559,827 280,745 274,895 4,187
2 W =4S SET 822,277 280,745 537,345 4,187
=20 2 WXl ANRS(SEAE) = 1,997,716 1,457,280 540,436 0
St HIEEY 22 OFAAIE m 44,375 12,317 32,058 0
te HHE 2D HHS m 12,317 12,317 0 0
=Pl BHE m 1,058 0 1,058 0
s A &) 286,415 355,031 -78,610 9,994




USIHII SR E

=3 7 A =g g A =2l MEH 3 tl i}

HEZSH B 17,484 16,551 933 0

NEX HH 2 S&(25 AL) A 57,724 55,759 1,965 0

=== MA m 1,720 1,670 50 0

SMHE =& SHe-23 2 m 14,402 10,522 3,880 0
FESHALLX(SH) LAY Ton 5,543,510 5,132,880 410,630 0
IS HIELHSDI m 1,720 1,670 50 0
=90lHCIER 13 m’ 5,103 4,258 845 0
SEHUEE(ZE) 23 m 12,610 11,355 1,255 0
AHEE EX ®160] ot H 17,288 16,440 848 0
S72 22 SZI| X s4E IH A 18,089 16,048 2,041 0
=233 Tem&f2t A2 M 5,653 5,015 638 0
15 AtCtEl Al 664 615 49 0

m 116,454 94,527 21,326 601

m 68,507 47,425 20,481 601

m 17,851 17,332 519 0

AFR23CE m 49,681 30,093 18,987 601

m 47,947 47,102 845 0

m 42,844 42,844 0 0

D/ EN 15,487 10,234 5,253 0

D) 3,573 2,361 1,212 0

B~ 11,914 7,873 4,041 0

H 19,620 19,620 0 0

H 65,400 65,400 0 0

H 1,807 1,656 151 0

eyl g m 394,617 357,837 36,780 0

f22X= m 57,308 56,185 1,123 0




USIHII SR E

s B = = 7 A =g g A =2l MEH 3 tl i}
X80= H 0l Lebs EHA m 5,405 5,405 0 0
Hg1s = ZACERZES HH M3 (CW=0.3mm 0|2t) M 6,251 2,507 3,744 0
Ng2s = ZdclECE:2+ =2 S8 (CW=0.3mm Ol &) M 50,854 29,699 21,155 0
HI83s = TEE ENH(BE) = 33,240 30,780 2,460 0
Ng4s = WHEE Xtel Hs TE2 EI(stE) 2AX B EN 684 474 204 6
X855 = SE A HRII 2f 25 od B~ 343,848 337,110 6,738 0
Xig6= = RS Ta Y m 5,653 5,015 638 0
Mg7s = S72 22 IH A 16,959 15,045 1,914 0
Xi88= H ZE=EHA kg 1,662 1,539 123 0
89S H ZEESMHLX(EE) LEHETH kg 5,542 5,132 410 0
M90s = nIHY m 5,653 5,015 638 0
HI1sS = Bt BHEHE A IH A 41,386 41,386 0 0
M92s = JIHE HIEA 2= wMAS B/ EN 1,125,640 1,114,533 0 11,107
H93s = 2 2= 8 A 281,585 278,807 0 2,778
N94s = =2 =25 A3 m 23,407 23,176 0 231
H955 H SHE=M €I A 65,522 20,522 45,000 0
H96s = d== S&¥de 22 23elEX m 24,831 24,831 0 0
M97S H ) S Hel & ot orrZ8 =% A 1,067 788 115 164
HN98s = =2 S| 2 E A m 12,441 10,560 1,881 0
H99s = =2 32| i m 12,452 12,452 0 0
100 & 222 m 12,430 8,668 3,762 0
H101S 5 ZESHI(HMSER) EEEN Ton 1,650,038 1,556,640 93,398 0
M1025 &2 ZEE EA NSEX JIE kg 494 466 28 0
H1035 & OtABRM I B A A2 ZA a 8,277 8,277 0 0
M1045 &2 ==g "oz &x MNES H0e A2 m 5,177 3,310 1,867 0
H1055 & OIS RUE EZX(2STM) &) 568,327 493,927 74,400 0




USIHII SR E

s B g dg 7 A =g g A =2l MEH i}
XI106= & FLAIE FH &) 435,455 0 435,455 0
H107s 5 LhotE s S (8ME) = 110,840 102,640 8,200 0
M108= & HEZSOH JHTEY AIB ARS(CIXIQl ZaH) A 18,000,000 0 18,000,000 0
H1095 & OI=Al HQIER MEADE (SHE) m’ 17,807 11,104 6,703 0




LgiTht

B Al L 2HI M= HI e H
S & e oA + e & Ot = 9 e Ot = 9 e Ot = o =] = 9 ol .
MISE HEE Al HtE el Z3cE - 2EHEH m 2,983 2,897 86
&3 0.00869| 2! 250,776 2,179.2 250,776 2,179.2 2Q1/230m
2508 0.00434| 2! 165,545 718.4 165,545 718.4 1el/230m
27&E 2 EMEHI(HOIX) |=2HIQ 3| % 2,898 86.9 2,898 86.9
H2zsH =4dHoEE(S2E) 23] m 7,369 6,680 689
=HHIE KSM-6010 1&Z22(22) 0.197] ¢ 3,300 650. 1 3,300 650. 1
3 0.024] 2! 250,776 6,018.6 250,776 6,018.6 12l =&x2
2508 0.004| 2! 165,545 662.1 165,545 662.1 18]=&x2
&=l =M=l 6| % 650 39. 650 39.
H3sE ANEX #EHA Al 49,663 49,663
2508 0.3 & 165,545 49,663.5 165,545 49,663.5
H4se2 EHE wA 2EEE(FN(18),2834(35)) | SET 559,827 280,745 274,895 4,187
eemd (EMe) 1200 % 2400 1| OH 185,550 185,550. 185,550 185,550.
Z2MHES EA L BLES 69,170 69,170. 67,814 67,814. 1,356 1,356. |2 RI5E X
2MES &X 1) H & 138,340 138,340. 135,628 135,628. 2,712 2,712, |4 RA6H X
ASFe LEEESH 5.4/ m 4,934 26,643.6 4,397 23,743.8 537 2,899.8 LRATE X
RIHY 54/ m 5,653 30,526.2 5,015 27,081. 638 3,445.2 L0 X
SHE=M €I LI BLES 65,522 65,522. 20,522 20,522. 45,000 45,000. U RIBEE
LU SH2YLLUSEZ(Lever ) 1| EA 38,000 38,000. 38,000 38,000.
COHE &X / LBE0E 2MIMEL = LI BLES 6,076 6,076. 5,957 5,957. 119 119. |2 fI23& =
N2 x 2ME= A M 69,170 67,814 1,356
2MES & 0.5/ 138,340 69,170. 135,628 67,814. 2,712 1,356. |26 X




LgiTht

B Al LS M= HI
s = g € 7 3 = g |E9 2
& Ot = 9 & Ot = 9 & Ot = o o
Hesx Z2MEs 43X M 138,340 135,628 2,712
g3 3 0.451] 2! 248,238 111,955.3 248,238 111,955.3
2SR 0.143] 2! 165,545 23,672.9 165,545 23,672.9
s7&Es ¥ ZFY JIAHEH  |=RHQ 2 % 135,628 2,712.5 2,712.5
HN78 8 B#5F% 22EZEE m 4,934 4,397 537
o & 3 0.014] ¢! 266,787 3,735. 266,787 3,735.
2508 0.004| 2! 165,545 662.1 165,545 662.1
ABIE 2.73| kg 120 327.6 120 327.6
2l 0.006| m 35,000 210. 35,000 210.
Hss g EYE =d NES &4 A 224,067 87,877 134,540 1,650
=20 X wiH 0.5/ 284,466 142,233. 82,616 41,308. 200,200 100, 100. 825. |4 R9H X
o Xl WA 0.5/ 149,266 74,633. 82,616 41,308. 65,000 32,500. 825. | L 13E X
QUAHCE SMHeE-23 2 0.5 m 14,402 7,201. 10,522 5,261. 3,880 1,940. LATE X
HosHE E20 &X uxl A 284,466 82,616 200,200 1,650
=20 X EHA 2| M 32,822 65,644. 9,532 19,064. 23,100 46,200. 380. | € 210& X
SZHBIAEX K-8300 2| 109,411 218,822. 31,776 63,552. 77,000 154,000. 1,270, | A NE X
H10sE|EZ20 8X A M 32,822 9,532 23,100 190
EZ0{sXEXR K-8300 0.3 M 109,411 32,823.3 31,776 9,532.8 77,000 23,100. 190.5 =
HNsE | Z208XNEX K-8300 M 109,411 31,776 77,000 635
EESGEEINN 23tz 2l 2(K-8300) 1] EA 77,000 77,000. 77,000 77,000.




LgiTht

T =2 EL 2l
4 s g 7oA + 2 o9 B2
SO | 2 W | & 3 | 2 W | @ | 2T W | & %} | F o
EEUEEIDNE=bN M=H 85 1 32,411 32,411. 31,776 31,776. 635 635. |2 12&
128 H | EZ20 8 XL MEH 28 N 32,411 31,776 635
q3s3 LBFZAL S 0.0%6| ¢! 248,238 23,830.8 248,238 23,830.8
2S0F UBFI AL BB 0.048| ¢! 165,545 7,946.1 165,545 7,946 .1
3E=E = 20 % 31,777 635.5 31,777 635.5
H13SE mwsix DA oA 149,266 82,616 65,000 1,650
oesx 2A 2| M 17,222 34,444. 9,532 19,064. 7,500 15,000. 190 380. |2 RI14F =
oss Xl &x 20 M 57,411 114,822. 31,776 63,552. 25,000 50,000. 635 1,270. |2 R16F =
H14SE|TIHE X & M 17,222 9,532 7,500 190
oestxl &X 0.3] M 57,411 17,223.3 31,776 9,532.8 25,000 7,500. 635 190.5|L 216
MIBSE BAS MY &% TH 300,000 300,000
S EMMN BLES 300,000 300,000. 300,000 300,000.
H16SE |IIHE X & M 57,411 31,776 25,000 635
253 ABEI AL BB 0.096| ¢! 248,238 23,830.8 248,238 23,830.8
2SF LBLZAL HE 0.048| ¢! 165,545 7,946.1 165,545 7,946 .1
SHE= L2419 20 % 31,777 635.5 31,777 635.5
ESSIPN 150kg01St,K1400 =S 25,000 25,000. 25,000 25,000.
H178E | @UAH QI STe-25/ = m 14,402 10,522 3,880
SHEEESE A AHel 0.15| ¢ 24,000 3,600. 24,000 3,600. HH Y
AUH(ZSHES) KSM-6060(2Z ) 0.018] ¢ 2,708 48.7 2,708 48.7 A




LgiTht

T =2 EL 2l
4 s g 7oA + 2 o9 B2
SO | 2 W | & 3 | 2 W | @ | 2T W | & %} | F o
i El 319IHEl, 3/ A4 0.006| kg 3,491 20.9 3,491 20.9 HH
&3 0.038| ¢! 250,776 9,529.4 250,776 9,529.4 12l x2
2508 0.006| ¢€! 165,545 993.2 165,545 993.2 18] =&x2
s7Eg ¥ & = 20 % 10,523 210.4 10,523 210.4
H18s x| EYUE =al E S M4 436,612 167,336 265,976 3,300
=20 X wH BLES 284,466 284,466. 82,616 82,616. 200,200 200,200. 1,650 1,650. |2 R9& =
osslx BLES 149,266 149,266. 82,616 82,616. 65,000 65,000. 1,650 1,650. |2 A13F =
QYUAHQE SMHE-251= 0.2 m 14,402 2,880.4 10,522 2,104.4 3,880 776. URAI7E I
H19SE |CINE S0z &x) WA THEY OAE SO | 180,000 180,000
OXg Z0oig £X IWMA 42 11 M 180,000 180, 000. 180,000 180,000.
H20S 2 At 8 ZHoiEX =4S MO A 2,519,754 2,519,754
setole 4X =4S 3ANITH 1| & | 2,519,754 2,519,754. 2,519,754 2,519,754.
H21SE |2 2 =HH = RUEN BYS TH 150,968 149,955 1,013
SR 0.7] & 214,222 149,955.4 214,222 149,955.4
2 A HESZERH 0.5| kg 2,026 1,013. 2,026 1,013.
H22s = | &8 & SHAH =Y ANEsu M 108, 124 107,111 1,013
Sgo8 0.5 & 214,222 107,111. 214,222 107,111.
2 A HESZEN 0.5| kg 2,026 1,013. 2,026 1,013.
R3S E|SOIZ X / LU0 ST KB B M 6,076 5,957 119
q353 0.024| ¢! 248,238 5,957.7 248,238 5,957.7




LgiTht

B Al L 2HI M= HI e H
s = g € 7 3 = g |E9 2
& Ot = 9 e Ot = 9o e Ot = 9 =] = 9
STEE E=p sl s] 2 % 5,958 119.1 5,958 119.1
M24S 2 |0HEI] WAl M 235,437 235,437
CHeHO A 1) M2 54,331 54,331. 54,331 54,331. 2 P26& &
CHetor &X 1) H & 181,106 181,106. 181,106 181,106. LA26& &
M25S 2 |tHEo| EH b 54,331 54,331
el X 0.3 181,106 54,331.8 181,106 54,331.8
H265 = |tHED| X A 181,106 181,106
? M3 0.694| 2! 213,253 147,997.5 213,253 147,997.5
2o 0.2 ¢ 165,545 33,109. 165,545 33,109.
H27sE |HEI| mAl S| -2l Al 2,360,000 2,360,000
CHEOl WA SHHD>2EI[(20H A) 1] & | 2,360,000f 2,360,000. 2,360,000| 2,360,000.
N28s & et =2 (HIE 30mm+2 Smm/ HESH, 0.04~0.1001GH(EFC, WMEY o 59,358 56,194 1,942 1,222
SEEZ(HIYSE M) HHErHl 1:3, AMIMIE, 2¢cf g 0.031] m
=[3=ami=p)l HtS, 24mm OIS JI&E 1w 12,317 12,317. 12,317 12,317.
BHS, 2=bBS 5mm AlSHI 0.04~0.100I5}, EtC, A 1w 47,041 47,041. 43,877 43,877. 1,942 1,942. 1,222 1,222.
H29sH 2EEIZ(HIYE RLY) HHEHl 1:3, AIHE, 2 & m
ANBIE AMHIE(ES) 510| ko g2e
2cH (25) .1 m g2
HI30EE |HtE =D bt 24mm 0I5t J| & m 12,317 12,317




LgiTht

B Al L 2HI M= HI e H
S & e oA + e & Ot = 9 e Ot = 9 e Ot = o =] = 9 .
0Es UBII AL BB 0.035] ¢! 266,787 9,337.5 266,787 9,337.5
2SR LBISAH S 0.018] 2! 165,545 2,979.8 165,545 2,979.8
N3ISE|HtE, =S 5mm Al3HI 0.04~0.100I15t, EtC, HMEE m 47,041 43,877 1,942 1,222
EtLAIHE 23| 6.8| kg 240 1,632. 240 1,632.
EtLAIHE AEES=E HAM 1.36| kg 228 310. 228 310.
B3 LB AL A S 0.122] ¢! 274,325 33,467.6 274,325 33,467.6
2SR LBISAH S 0.044] 2! 165,545 7,283.9 165,545 7,283.9
STEE L sl s] 3| % 40,752 1,222.5 40,752 1,222.5
=3 LIS At S 0.016] 2! 195,370 3,125.9 195,370 3,125.9
MRS HE | 2et 2= A= A 78,886 41,386 37,500
ZUE=E 1.5 M 25,000 37,500. 25,000 37,500.
2SR 0.25) & 165,545 41,386.2 165,545 41,386.2
MBS HE | HE nH 24 A 72,385 39,013 38,372
dstRe(FH) 6mm/2148+%3048 1.545) m 21,600 33,372. 21,600 33,372.
7 cd 3 0.1425| ¢ 247,643 35,289.1 247,643 35,289.1
2508 0.0225| ¢ 165,545 3,724.7 165,545 3,724.7
N34= & HISH =7 EA M 12,928 12,928
S+ &X 0.3 43,094 12,928.2 43,094 12,928.2
MBS E HE == £X ) 43,094 43,094
o 2 3 0.151] 2! 229,482 34,651.7 229,482 34,651.7
2808 0.051] ¢! 165,545 8,442.7 165,545 8,442.7




LgiTht

B Al L 2HI M= HI e H
s = g € 7 3 = g |E9 2
& Ot = 9 e Ot = 9o e Ot = 9 =] = 9
NS E |+ &I M 56,503 56,503
X+ £X =¥ 0.3 188,344 56,503.2 188,344 56,503.2
H37s® | 8x+d 4X LE8 M 188,344 188,344
s 0.87] & 213,253 185,530. 1 213,253 185,530. 1
2508 0.017] ¢! 165,545 2,814.2 165,545 2,814.2
MBS E|MEI| =& A b 6,855 6,855
NI =& &X 0.2] A 34,277 6,855.4 34,277 6,855.4
MBS E NI =& 4X A 34,277 34,277
? M3 0.139] ¢! 213,253 29,642 .1 213,253 29,642.1
2SR 0.028] 2! 165,545 4,635.2 165,545 4,635.2
H40sE 2= &I ) U Fel ¢ o2 ZE Al 493,175 478,671 8,764 5,740
HZZ I EMDI 2 E20IA (X I1411.5kW) 1.6 m 296,038 473,660.8 287,321 459,713.6 5,334 8,534.4 3,383 5,412.8
d== d&¥de 22 23ERX 0.7 m 24,831 17,381.7 24,831 17,381.7
) HtS el & ot OrrZ8 =% oD/ EN 1,067 2,134. 788 1,576. 115 230. 164 328.
Has= U2 EAH Al 258,610 307,972 -49,362
HFESHELLX(SEH) LOrETH 0.06| Ton| 5,543,510 332,610.6| 5,132,880 307,972.8 410,630 24,637.8
n ZEA 200| kg =370 -74,000. =370 =74,000.
Ha2s= U2 €X S)ISH RASU2 Al 7,700,000 7,700,000
dsUE EXIEE 1| & | 7,700,000, 7,700,000. 7,700,000 7,700,000.




LgiTht

B Al L 2HI M= HI e H
S & e oA + e & Ot = 9 e Ot = 9o e Ot = o =] = 9 .
M43s 2 | ROIS AX(2SXHM) SZROIE/EBHEZ M 1,655 1,655
2508 0.01 & 165,545 1,655.4 165,545 1,655.4
H44sm B2cEs Nras JA =4S 02 A 2,160,000 2,160,000
22y Dgads MH 170m* 1 4| 2,160,000) 2,160,000. 2,160,000| 2,160,000. |2 1& X
Hi45S H |Or2l 32t HISErY 2+ Ol SHE m 44,375 12,317 32,058
STHEHL (RO1E) 150 x 150 x 15 1w 31,000 31,000. 31,000 31,000.
Ete BtEDED] BHE 1w 12,317 12,317. 12,317 12,317. 2SI
EtLE017] HHS 1w 1,058 1,058. 1,058 1,088. URB2E &
X465 H | 1cHOIE SHEEIN AXI(2SA b E 26,203 33,575 -7,372
2SR 0.2| ¢ 165,545 33,109. 165,545 33,109.
g2 EN HS4EX JIE 1| kg 494 494. 466 466. 28 28.
o Z JEA 20| kg =370 =7,400. =370 —7,400.
H478E | EMHE A So4EYR SET 559,827 280,745 274,895 4,187
emd (EMe) 1200 x 2400 1| Of 185,550 185,550. 185,550 185,550.
2MHES EA LB 69,170 69,170. 67,814 67,814. 1,356 1,356. |25 XE
Z2MES &X LI BLES 138,340 138,340. 135,628 135,628. 2,712 2,712, | &6 X
qsF9 Z2EEEH 54/ m 4,934 26,643.6 4,397 23,743.8 537 2,899.8 LRATE X
22EY 5.4/ m 5,653 30,526.2 5,015 27,081. 638 3,445.2 20X
SHEZN €I LB 65,522 65,522. 20,522 20,522. 45,000 45,000. LB X
ToHE SH2ULUSI2E (LeverE) 1 EA 38,000 38,000. 38,000 38,000.
COHE £X / dBE0E WIS EE 1) H & 6,076 6,076. 5,957 5,957. 119 119. |2 RI23F =




LgiTht

B Al LS M= HI
S & e oA e & Ot = 9 & Ot = 9 & Ot = o o .
SH |32 uA =4S 822,277 280,745 537,345 4,187
Lot 900 x 2100 x 40 1 448,000 448,000. 448,000 448,000.
2MHEs EH 1 69,170 69,170. 67,814 67,814. 1,356. |25 X
2MES & 1 138,340 138,340. 135,628 135,628. 2,712, |46 X
qSFe Z2EEEH 5.4 4,934 26,643.6 4,397 23,743.8 537 2,899.8 LRATEE
RIHY 5.4 5,653 30,526.2 5,015 27,081. 638 3,445.2 U L(0E X
EHEZN €I 1 65,522 65,522. 20,522 20,522. 45,000 45,000. LB X
ToE AU EZ S (Leverd) 1 38,000 38,000. 38,000 38,000.
COS £X / LB 0E ZMIMEH Ex 1 6,076 6,076. 5,957 5,957. 119. 1
SH (S x| iz mH ANRS(SEAE) 1,997,716 1,457,280 540,436
22 SXI| 2 # 40 12,441 497,640. 10,560 422,400. 1,881 75,240.
=2 SXJ| 2 40 12,452 498,080. 12,452 498,080.
2= s00l= SAINE 40 4,750 190,000. 4,750 190,000.
222 40 12,430 497,200. 8,668 346,720. 3,762 150,480.
B Z0I HSE 15 1,682,920 252,438.| 1,267,200 190,080. 415,720 62,358.
PNl M= dle 15 415,720 62,358. 415,720 62,358.
SH|0k2 32t HISEY 24 OFIAIE 44,375 12,317 32,058
STHEHL (XHI1E) 150 x 150 x 15 1 31,000 31,000. 31,000 31,000.
Ete BtEDZD] BHE 1 12,317 12,317. 12,317 12,317. LASTE X
Et22017] HHS 1 1,058 1,058. 1,058 1,058. U R52E &
SHEY HEN2D] bt S 12,317 12,317
o 3 0.035 266,787 9,337.5 266,787 9,337.5




LgiTht

B Al L 2HI M= HI e H
S & e oA + e & Ot = 9 e Ot = 9 e Ot = o =] = 9 .
2508 0.018] ¢! 165,545 2,979.8 165,545 2,979.8
M52 2 |Et2 20101 HtS m 1,058 1,058
Z22EEz, St 11 0.007| m 151,270 1,058.8 151,270 1,058.8
Ns3sx =2 IS EA Al 286,415 355,031 -78,610 9,994
ZE=SENA 200| kg 1,662 332,400. 1,539 307,800. 123 24,600.
o E S EA 300| kg =370 -111,000. -370|  -111,000.
EHENE I 5Ton 1| hr 65,015 65,015. 47,231 47,231. 7,790 7,790. 9,994 9,994.
M5s4S H |Sa HY Dl WHELX HEIEU b 17,484 16,551 933
STSWH &4 2HEH(STS304 2B) 2.0t 0.022| kg 3,500 77. 3,500 7.
n E ZEA 0.002| kg -370 -0.7 -370 -0.7
ZE=E A 0.006| kg 1,662 9.9 1,539 9.2 123 0.7
ZEHESMALX(EE) LEHETH 0.02| kg 5,542 110.8 5,132 102.6 410 8.2
AWHEE EX ® 160l ot 1) 17,288 17,288. 16,440 16,440. 848 848.
HshsH &2t 2N 2B NEX HAH ¥ SH(25 HE) Al 57,724 55,759 1,965
NEX EH 1] & 49,663 49,663. 49,663 49,663. 22
SIHE HHELSD) === MA 0.5 m 1,720 860. 1,670 835. 50 25. 2 A56E &
SN &F SME-23512 0.5 m 14,402 7,201. 10,522 5,261. 3,880 1,940. UR57TEE
N56S 2 |SMHH HEeHSII &8 WA m 1,720 1,670 50
&3 0.006| ¢! 250,776 1,504.6 250,776 1,504.6
2= 0.001] 2! 165,545 165.5 165,545 165.5
=27&g 2 EMEHI(H0IX §=2H12 3| % 1,670 50.1 1,670 50.1




LgiTht

B Al L 2HI M= HI e H
S & e oA + e & Ot = 9 e Ot = 9 e Ot = o =] = 9 ol .
NE78 2 |SHHE =& Snel-2s& m 14,402 10,522 3,880
SHEEEZ 0.15| ¢ 24,000 3,600. 24,000 3,600. A
AU (ZEHUES) KSM-6060(2F ) 0.018| ¢ 2,708 48.7 2,708 48.7 2HE
i El 319IHEl, 3| 44 0.006| kg 3,491 20.9 3,491 20.9 HH
&3 0.038] 2! 250,776 9,529.4 250,776 9,529.4 12/ x2
2508 0.006| 2! 165,545 993.2 165,545 993.2 18]=&x2
s7Eg ¥ s L2419 2 % 10,523 210.4 10,523 210.4
HossH HEESRZULX (HH) derETY Ton 5,543,510 5,132,880 410,630
= = 12.38| ¢ 233,754 2,893,874.5 233,754 2,893,874.5
283 3.38) & 267,021 902,530.9 267,021 902,530.9
Sgog 4.5 QI 214,222 963,999. 214,222 963,999.
2SR 2.25) ¢ 165,545 372,476.2 165,545 372,476.2
STEE ¥ B JIABH | =RH2 5 % | 5,132,881 256,644 5,132,881 256,644.
&=l L2419 3| % | 5,132,881 1563,986.4 5,132,881 1563,986.4
H5os ® | HHECHEDI m 1,720 1,670 50
c ¥ 3 0.006| 2! 250,776 1,504.6 250,776 1,504.6
2SR 0.001] ¢! 165,545 165.5 165,545 165.5
278 2 ZWMEHI(EAA §2H19 3| % 1,670 50.1 1,670 50.1
N6 & SAUOIHAER 13 m 5,103 4,258 845
ZHHIEHE KSM-6030 15 37 0.08| ¢ 10,120 809.6 10,120 809.6
AU (ZEHUES) KSM-6060 25 0.004| ¢ 2,708 10.8 2,708 10.8
&3 0.015] ¢! 250,776 3,761.6 250,776 3,761.6




LgiTht

B Al L 2HI M= HI e H
S & e oA + e & Ot = 9 e Ot = 9o e Ot = 9 =] = 9 ol .
2508 0.003] ¢! 165,545 496.6 165,545 496.6
&I =l =M=l 3| % 820 24.6 820 24.6
Ne1sE | RAHAER(RE) 23 m 12,610 11,355 1,255
ZEHAE KSM-6020 12 (21 AL) 0.166| ¢ 6,066 1,006.9 6,066 1,006.9 HH
AU (ZEHUES) KSM-6060 2& 0.008| ¢ 2,708 21.6 2,708 21.6 2HE
&3 0.04| & 250,776 10,031. 250,776 10,031. 18]=&x2
2SR 0.008| 2! 165,545 1,324.3 165,545 1,324.3 12l =&x2
S7E2 2 S| L sl s] 2 % 11,355 227 .1 11,355 227 .1
HE2S E | HHEE £X ® 16015t | 17,288 16,440 848 2HF1-2-5
2=z3 0.05| & 243,126 12,156.3 243,126 12,156.3
Sgog 0.02| & 214,222 4,284.4 214,222 4,284.4
ST7EE ¥ FE| L2419 2 % 16,441 328.8 16,441 328.8
NEBH(STS) @ 10mm*75mm 1] EA 520 520. 520 520.
Hes e |s+2 2 SYJ| &x B b E 18,089 16,048 2,041
=233 lemaf2t ASHAC 2 3.2 M 5,653 18,089.6 5,015 16,048. 638 2,041.6 264 X
He4sHE | +=2UD2 fem&f2t A ae|@ M 5,653 5,015 638
AC2AHEE SC-2000, HI =4+ 0.06| ¢ 10,645 638.7 10,645 638.7
223 0.025] ¢! 200,603 5,015. 200,603 5,015.
HessS H \AtCtel B3 HA 15 AtCtel Al 664 615 49
ZESHMAELER(EE) LU TH 0.00012| Ton| 5,543,510 665.1| 5,132,880 615.9 410,630 49.2 2 58F &




LgiTht

=] Al L 2H]| T2 H| a4 H
S 8 2 oA + 2 e =] = 9 = =2 o = =2 o (= = 9 .
HessE \HHES2(23LE, ¢H) m 116,454 94,527 21,326 601
HH=R (232 E) 1 m 68,507 68,507 . 47,425 47,425. 20,481 20,481. 601 601. |LRA67E =
s SEEAY 1 m 47,947 47,947 . 47,102 47,102. 845 845. LRA70E X
He7s® | ¢HE (232 E) m 68,507 47,425 20,481 601
=48 Fel 1 m 17,851 17,851. 17,332 17,332. 519 519. 2268 X
2 EZ M H2D] ARA2ILE 1 m 49,681 49,681. 30,093 30,0983. 18,987 18,987. 601 601. | L1698 =
S =4l M=zHl2 5 % 19,506 975.3 19,506 975.3
H68S E |48 FHel m 17,851 17,332 519
Edo2 0.05| @I 214,222 10,711.1 214,222 10,711.1
2SR 0.04| ¢! 165,545 6,621.8 165,545 6,621.8
JlRE= L2429 3 % 17,333 519.9 17,333 519.9
Me9S E | 23CIEF A H2D| A2 3CE m 49,681 30,093 18,987 601
ZHE+=2SE CPU-M50 1.2| kg 1,700 2,040. 1,700 2,040.
ARAZILEFFA 1.2| kg 13,000 15,600. 13,000 15,600.
Oll = Al HI &1L 024 0.2] ¢ 6,737 1,347.4 6,737 1,347.4
S &3 0.12| ¢! 250,776 30,0983.1 250,776 30,093.1
&= L 249 2 % 30,093 601.8 30,093 601.8
H70sE ¢S Y= m 47,947 47,102 845
=HMA 1| m 42,844 42,844, 42,844 42,844 URA7TIE X
=20IHeER 18] 1 m 5,103 5,103. 4,258 4,258. 845 845. 2 LA60E X
M7 E |sHAH mt 42,844 42,844




LgiTht

B Al L 2HI M= HI
s = g € 7 3 = g |E9 2
& Ot = 9 e Ot = 9o & Ot = o
Sgo8 0.2 ¢ 214,222 42,844 .4 214,222 42,844 .4
H72SE | &3 WA M 15,487 10,234 5,253
H2E EH 1) M2 3,573 3,573. 2,361 2,361. 1,212 1,212. LATIE X
Ha2E X 1) H & 11,914 11,914. 7,873 7,873. 4,041 4,041, LAT4E X
H73sE | M2 A b 3,573 2,361 1,212
Ha2g &xl 0.3 11,914 3,574.2 7,873 2,361.9 4,041 1,212.3
H74s 2 MBS X A 11,914 7,873 4,041
gEoIEEE(FY) 3%6, 10T 0.02| OH 152,000 3,040. 152,000 3,040.
=233 Tem&f2t A2 1.57) M 5,653 8,875.1 5,015 7,873.5 638 1,001.6
H758 8 | NES & M 19,620 19,620
LED SJI17 &X 0.3] M 65,400 19,620. 65,400 19,620.
H76S £ |LED SJ17 & Xl M 65,400 65,400
eSS 0.242] 2! 270,251 65,400.7 270,251 65,400.7
H778 % | NSS 2H = H<I M 1,807 1,656 151
f2232E ol y 0.004| m 394,617 1,578.4 357,837 1,431.3 36,780 147 .1 UR78E X
DI 2EIE (IS 2BHEH) fI2AXE 0.004| m 57,308 229.1 56,185 224.7 1,123 4.4 LAT9E &
H78s® f223CE oty m 394,617 357,837 36,780
A8 E = Py 323| kg
2d, A2, &2 L2cH 0.48| m 36,000 17,280. 36,000 17,280.




LgiTht

B Al LS M= HI
S oA e & Ot = 9 & Ot = 9 & Ot o ol .
INRUDNE #467, 40mm 0.65 30,000 19,500. 30,000 19,500.
23cEZ 0.85 261,283 222,090.5 261,283 222,090.5
2 8 ¢ 0.82 165,545 135,746.9 165,545 135,746.9
SH|d0I2EE f2FRX= 57,308 56,185 1,123
diol2 S &
Z23cE 0.12 261,283 31,353.9 261,283 31,353.9
2SR 0.15 165,545 24,831.7 165,545 24,831.7
STEE 1=2Hl2 2 56,186 1,123.7 56,186 1,123.7
SE|O LEDS 5,405 5,405
eSS 0.02 270,251 5,405. 270,251 5,405.

H| 232 E HMXeI S8 (CW=0.3mm 0I2t) 6,251 2,507 3,744
Ol = AIZ2t0 0.05 4,600 230. 4,600 230.
HHE W= G700 0.2 9,000 1,800. 9,000 1,800.
Bt BT RECOH-PUTTY 0.15 6,500 975. 6,500 975.
Jeteld 18cm 0.01 49,000 490. 49,000 490.
T IH= I M=z dlel 5 3,495 174.7 3,495 174.7
&3 0.01 250,776 2,507.7 250,776 2,507.7
SHE= B s 1] 3 2,508 75.2 2,508 75.2

SE ZIJUEDEES FUZH(CWN=0.3mm OI4}) 50,854 29,699 21,155
FYE H=Al G7 0.1 18,000 1,800. 18,000 1,800.
OIS A A 2 3,000 6,000. 3,000 6,000.
AHEZ NZAl G700 1 9,000 9,000. 9,000 9,000.




LgiTht

CHEE] [RETH ET] 3
s = g 9 A A + 2 (o9 5
g ot | 3 % | B o | 2 o | = | 2 o | ° o

AEEFAIINE 5| set 500 2,500. 500 2,500.

&I =l M=dlel 5 % 19,300 965. 19,300 965.

Sgo8 0.1 ¢ 214,222 21,422.2 214,222 21,422.2

2SR 0.05| & 165,545 8.,277.2 165,545 8,277.2

STEE L2419 3| % 29,699 890.9 29,699 890.9
N83sH |TE HAH(SIE) 4l 33,240 30,780 2,460

ZE=SEHA 20| kg 1,662 33,240. 1,539 30,780. 123 2,460.
Hgas g HHEE Xl S ZEE I (BIE) 9 A 684 474 204

HeHS7(232E) 0.0t m 68,507 685. 47,425 474.2 20,481 204.8 601
HBsSE|SE HH ) A oS By A 343,848 337,110 6,738

ci0I2EHE (21 2BHEHE) f2AXE 6 m 57,308 343,848. 56,185 337, 110. 1,123 6,738.
HgpsH fas Hd 2 m 5,653 5,015 638

=232 femaf2t A Ag2 1M 5,653 5,653. 5,015 5,015. 638 638.
HE75E|s7e 32 A 16,959 15,045 1,914

=243 femaf2t A2 3| M 5,653 16,959. 5,015 15,045. 638 1,914, x
HIB8S I & &S &) ko 1,662 1,539 123

ZEHESMHLX(HE) LU T 0.3] kg 5,542 1,662.6 5,132 1,539.6 410 1283. ES
oS E | MESHHEX (HE) QuE Ty ko 5,542 5,132 410

HFESHELLX(SEF) LOHETH 0.001| Ton| 5,543,510 5,543.4 5,132,880 5,132.8 410,630 410.6




LgiTht

B Al L 2HI M= HI e H
s = g € 7 3 = g |E9 2
& Ot = 9 e Ot = 9o e Ot = 9 =] = 9
Hgos = |22 AN m 5,653 5,015 638
=232 femef2t ASHAe2 1M 5,653 5,653. 5,015 5,015. 638 638.
NO1SH Bty WEHE A M 41,386 41,386
2SR 0.25| & 165,545 41,386.2 165,545 41,386.2
HO2S H DIHS US4 &5 WXMAS A 1,125,640 1,114,533 11,107
g 2= 8 1] A 281,585 281,585. 278,807 278,807 . 2,778 2,778.
=22 2T N3 36.06| m 23,407 844,056.3 23,176 835,726.5 231 8,329.8
HossE | 2€ 25 A A 281,585 278,807 2,778
2 E= N3 12.03| m 23,407 281,586. 1 23,176 278,807.2 231 2,778.9
Ho4s 2 |SE EF NS m 23,407 23,176 231
2SR 0.14] & 165,545 23,176.3 165,545 23,176.3
STEE ¥ JFHIQ JIABH | =RH2 1 % 23,176 231.7 23,176 231.7
S2 . HIEFN, 222 IS 2H8E3Z2 ZS8HUHUS.
HoSSH | E0EEZHM DI ) 65,522 20,522 45,000
2353 0.062| 2! 248,238 15,390.7 248,238 15,390.7
2SR 0.031] ¢! 165,545 5,131.8 165,545 5,131.8
TOHEZRN K-630, 5= 2 =4 ,40~65kg 1 EA 45,000 45,000. 45,000 45,000.
Hoes 2 |HES S&FEFe g2 Z32E=X m 24,831 24,831
2808 0.15] ¢ 165,545 24,831.7 165,545 24,831.7




LgiTht

B Al L 2HI M= HI e H
S & e oA + e & Ot = 9 e Ot = 9 e Ot = o =] = 9 .
Ho7s=|EH HE Hel & o2 orA2 2& M 1,067 788 115 164
OrAE AN RD| ARE2ZE (= ASE) 0.35] m 2,969 1,039.1 2,170 759.5 329 115.1 470 164.5
OtAZRIM I = HE A A2 ZA 0.0035| a 8,277 28.9 8,277 28.9
NS 2 |s2 XD = EA m 12,441 10,560 1,881
22 S| i 0.5/ m 12,452 6,226. 12,452 6,226.
222 0.5/ m 12,430 6,215. 8,668 4,334. 3,762 1,881.
MO9S ®H |S2 X7 i m 12,452 12,452
i 2 3 0.042] 2! 229,482 9,638.2 229,482 9,638.2
2SR 0.017] & 165,545 2,814.2 165,545 2,814.2
H100S 222 m 12,430 8,668 3,762
222 1.05| M 2,820 2,961. 2,820 2,961.
FHOH= 303 0.2t, 100mm*15m 0.44| m 710 312.4 710 312.4
AL BHE 0.3*30W 0.39 M 360 140.4 360 140.4
&=l 2 HEHle 3| % 2,961 88.8 2,961 88.8
2508 0.003] 2! 165,545 496.6 165,545 496.6
223 0.04| & 204,285 8,171.4 204,285 8,171.4
SHE= B s 1] 3| % 8,668 260. 8,668 260.
M101s 2 HESLEX(HMSLER) JEEN Ton 1,650,038 1,556,640 93,398
= = 3.71 ¢ 233,754 867,227.3 233,754 867,227.3
23 3 1.35] 2! 267,021 360,478.3 267,021 360,478.3
Sgo8 1.01] ¢! 214,222 216,364.2 214,222 216,364.2




LgiTht

T =2 EL 2l
4 s g 7oA 42| B2
SO | 2 W | & 3 | 2 W | @ | 2T W | & %} | F o

2508 0.68| & 165,545 112,570.6 165,545 112,570.6

S7EE ¥ F&EHIQ JIAHBH | =22 40 % 1,556,640 62,265.6 1,556,640 62,265.6

M= L2419 20 % 1,556,640 31,132.8 1,556,640 31,132.8
H1025E&aS B HMESX IIE ko 494 466 28

ZESHI(MBER) JEEM 0.0003| Ton| 1,650,038 494.9| 1,556,640 466.9 93,398 28. 221018 X
H103S H|OtAZRIN LI - HAE A ARBEM a 8,277 8,277

E2S0% 0.05 o 165,545 8,277.2 165,545 8,277.2 101/20a
H145E =58 HOIZ & N2E H0HQ FAZ n 5,177 3,310 1,867

2SR 0.02| & 165,545 3,310.9 165,545 3,310.9

=g gol=Z 50mm I m 1,867 1,867. 1,867 1,867.
H105S H O NAEKFME ZE(ASTM) 4l 568,327 493,927 74,400

OFtERELE W=1.2, t=30mm 45/ M 8,760 394,200. 7,560 340,200. 1,200 54,000. CHAR3E &

OFMtE ROUEZE W=1.5, t=30mm 77 M 10,651 74,557 9,451 66,157. 1,200 8,400. CHAME

OFERELE W=2.0, t=30mm 10 M 9,957 99,570. 8,757 87,570. 1,200 12,000. CHABE &
1065 E FUAIL FH| A 435,455 435,455

el e AX =g 1 435,455 435,455. 435,455 435,455.
H107S H et 2 2F(8MHA) 4l 110,840 102,640 8,200

ZEESMEALX(SF) LOrETH 20| kg 5,542 110,840. 5,132 102,640. 410 8,200. 2 PBI9E L
H108ZHEAFTSH JHTEIY AT |(ASS(CXY Z8) A 18,000,000 18,000,000




LgiTht

B Al LS M= HI
S & oA e & Ot = 9 & Ot o It = o ul .
el et 7.3 x 2.4m / A, e 1] 4l | 18,000,000 18,000,000. 18,000,000| 18,000,000.
SHUHZA HAEE =EA2E(EE) 17,807 11,104 6,703
Ol ZAl=XIHQE MlZ0HEY) 0.53 8,381 4,441.9 8,381 4,441.9 2HE
Ol = AIH Zetol 0.19 6,300 1,197. 6,300 1,197. HH
BIZAIAHMYH 024 0.125 6,737 842.1 6,737 842.1 2HE
&3 0.039 250,776 9,780.2 250,776 9,780.2
2SR 0.008 165,545 1,324.3 165,545 1,324.3
S7E2 2 S| L sl s] 2 11,105 222. 11,105 222.




7 A = & Al L 2HI M=Hl e H )
AEEYOIA(™IAY w 296,038 287,321 5,334 3,383
ARDEE@NSAIZY m 2,969 2,170 329 470
W=1.2, t=30mm M 8,760 7,560 1,200 0
W=1.5, t=30mm M 10,651 9,451 1,200 0
W=2.0, t=30mm M 9,957 8,757 1,200 0
Jersd 2loiat Ton 71,202 71,202 0 0
SYLMAE, detd| 3 871,173 703,398 121,617 46,158




& £ =2 A g L 2Hl | MZHl | & HI
1. 82232 EMIN(AEEA0IH(EIIAIT.5kN) ) [ m'] 296,038| 287,321 5,334 3,383
< SANBLZL-HAE3-1-1 (2ACERXTSEI(AEEHI) >
1. o1Ad|
= 2 B3 210,152 x 0.9221 = 193,339.8 W/ m
HES0E 165,545 x 0.399! = 64,562.5 W/m
OIS AN : 257,902.3 257,902 257,902
SMSHN(XIES) (121412 1%)
257,902.3 x 1% = 2,579 2,579 2,579
2. 2EBHOIAH(MIIAL)(1.5kW)
Q=4.4hr
CRHl : 0 x 44= 0
M=Hl @ 0 x 4.4 = 0
4 Bl : 322 x 4.4=1,416.8
NI/ I 1,416.8 1,417 1,417
3. HOHSHH(E2,I0IZS) <AHAEEH 12-1>
AFA (6000 £ /&) 3.03 x 1354 = 409
OFMIE &l (98%(Z2 & &) 23,700 x0.05kg = 1,185
RETHAAH + 1,594 1,594 1,594
g & 3 267,021 x 0.0221 = 5,340.4
SYOoIR 214,222 x 0.0521 = 10,711.1
BSOI2 165,545 x 0.0321 = 4,966.3
OIS AN : 21,017.8 21,018 21,018
4. SOIUDI : 2AI(REHT)(0.2m)
q=0.2 f=1/1.56=0.67 K =10.55
E=0.45 Cm = 18sec (135°)
3,600xgxKxfxE 3,600%0.2%x0.55%0.67x0.45
Q= = = 6.63 m /hr
Cm 18
L24d| : 55,700 =+ 6.63 = 8,401.2
MEdl - 7,701 = 6.63 = 1,161.5
2 dl : 13,041 = 6.63 = 1,966.9
EAID | I 11,529.6 11,530 8,401 1,162 1,967
5.8 A
S 24| : 257,902.3 + 21,017.8 + 8,401.2 = 287,321
MZHl - 2,579 + 1,594 + 1,161.5 = 5,334
A Hl - 1,416.8 + 1,966.9 = 3,383
Al : 296,038 296,038| 287,321 5,334 3,383
2.0tA2 HMN2)| (ARZ2EFH(Bn<AIBE)) [] 2,969 2,170 329 470
< 20204 EBHNE. ES 1-11-3 >
EE2 HAUHAZ, FEIIEZ, IS S92 ARZEZH(INSAIZ2E)9 20 M6,




C I_* I
CH7F LS
& = 2 A g H | MZH HI

. HixIore

T E 2 258,360 x4.00 + Qd = 258,360 x4 <+ 2,000 = 516.7

HE08 165,545 x1.02 + Qd = 165,545 x1 <+ 2,000 = 82.7

QI AN : 599.4 599 599
. JIAZ
Jb. OFAZEHOIH (TILIA) (3.0m)

L 2H| : 55,700 + 250 = 222.8

MEHl : 17,707 = 250 = 70.8

2 Hl : 53,540 ~ 250 = 214.1

E 507.7 508 223 71 214
Lb. IHE 2224 (X=4!) (10~12Ton)

L2H| : 55,700 + 250 = 222.8

MEHl : 13,969 ~ 250 = 55.8

Z Hl 12,102 + 250 = 48.4

2 A 327 327 223 56 48
Ct. EIOIOI2 24 (K241 (8~15Ton)

L 2H| : 55,700 ~ 250 = 222.8

MHaHl @ 12,526 + 250 = 50.1

A Hl 117,929 = 250 = 71.7

E: 344.6 345 223 50 72
2t. e 282 (X=4l) (5~8Ton)

L 2H| : 55,700 + 250 = 222.8

MEHl 7,510 = 250 = 30

A Hl: 8,525 + 250 = 34.1

2 A 286.9 287 223 30 34
OF. 22C(Et0I0f) (0.25m")

L 2H| : 55,700 ~ 250 = 222.8

MEHl : 6,049 + 250 = 24.1

Z Hl @ 6,000 ~ 250 = 24

E: 270.9 271 223 24 24
Ht. ZY0IESHE (1.5Ton)

24| : 33,571 + 250 = 134.2

MEHl : 1,582 = 250 = 6.3

Z Hl @ 582 + 250 = 2.3

EA: 142.8 143 134 6 2
Ab. S2€43 (16000 4 )

L 2H| : 47,231 = 250 = 188.9

HEHl @ 21,348 + 250 = 85.3

A Hl ;18,163 = 250 = 72.6

E | 346.8 347 189 85 73
Ot. OFAZEATH O/ (4004 )

24| ;33,571 + 250 = 134.2

MEHl : 1,677 ~ 250 = 6.7

2 Hl @ 743 = 250 = 2.9

E 143.8 144 134 7 3
N

C2H| 1 222.8 + 222.8 + 222.8 + 222.8 + 134.2 + 188.9 + 134.2 = 1,348.5

24l @ 55.8 + 50.1 + 30 + 24.1 + 6.3 + 85.3 + 6.7 = 258.3

H H 484+ 71.7+34.1+24+23+726+2.9 =25




THotkE
&t = A g A L 2H | M=HI H
At 1,862.8 1,863 1,349 258 256
3.8 A
T RHl - 599.4 + 222.8 + 1,348.5 = 2,170
MZHl : 70.8 + 258.3 = 329
& Hl 2141 + 256 = 470
H 2,969 2,969 2,170 329 470
3.0INERMEZE(W=1.2, t=30mm) [M] 8,760 7,560 1,200
1. MEHI(HELDEH)
HIWUHE(E,010xL300mm) 600 x 24 = 1,200
AR AA 0 1,200 1,200 1,200
2. 212l
X & 3 203,631 x 0.22Q! / 10m x {1.2m/m = 5,375.8
SE0IL 1 165,545 x 0.11Q / 10m x {1.2m/m= 2,185.1
QISAN & 7,560.9 7,561 7,561
3.8 A
24l ¢ 7,560
MZHl 1,200
Z dl:
H 18,760 8,760 7,560 1,200
4 OFXIE SONEXZE(W=1.5, t=30mm)[M] 10,651 9,451 1,200
1. HEHI(HEL D HE)
HIWHE (- E ,010xL300mm) 600 x 204 = 1,200
KA A+ 1,200 1,200 1,200
2. 212yl
£ & & 203,631 x 0.222 / fom x 1.5m/m =6,719.8
282 165,545 x 0.11Q0 / 10m x 1.5m/m= 2,731.4
QISAH @ 9,451.2 9,451 9,451
3. & A
L 24l 9,451
MZdl @ 1,200
4 dl:
At 10,651 10,651 9,451 1,200
5. 0Lt SINEZH (W=2.0, t=30mm) [M] 9,957 8,757 1,200
1. MEHI(HELDEH)
HIZWHE (- E,010xL300mm) 600 x 234 = 1,200
KR ZA 1,200 1,200 1,200
2. oAt
= & 3 203,631 x 0.15Q / 10m x2m/m = 6,108.9
BE0IL 1 165,545 x 0.08Q! / 10m x2m/m = 2,648.7
QISAH : 8,757.6 8,758 8,758




C I_* I
Ll.y =
& £ =2 A g L 2Hl | MZHl | & HI
3. & A
L 24l : 8,757
MZ Bl - 1,200
d Hl
Al 1 9,957 9,957 8,757 1,200
6. ASBHAEI L 2FII) (2, 210i3t) [Ton] 71,202) 71,202
1.0
g = 0.25ton/CH
V = 2500 T = 450 L = 400m t=5
VT 2,500 x 450
N = = =18.6 3//4
120 X L+V x t 120 x 400+2,500 x 5
Q=N xqg=18.6 x0.25 = 4.65 Ton/<
BEOE 165,545 x291+4.65 = 71,202.1 71,202 71,202
2. &
LS 24| 71,202
HZ 8l
2 t” .
Al : 71,202 71,202 71,202
7. 09 EH(SEIIRAS, MstdesSa) (3] 871,173| 703,398| 121,617| 46,158
- 282 (BLgesE) = 20.0kn
1) 88 A2t
Ol (119kW)
L =20.0km V= 12.9km/hr t =35T =60 E=0.75
L t 1 20 35 1
N=(—+—)x— =( + ) x =2.84 hr
V T E 12.9 60 0.75
2) W& UIDIAIZE
SBACH, ASEE B4 04 A2 (A2
3) 2 HlE
ON=284W=4
LC=24l : 102,836 xN = 102,836 x2.84 = 292,054.2
THEZ 8l : 42,823 xN = 42,823 x2.84 = 121,617.3
& Hl : 16,253 xN = 16,253 x2.84 = 46,158.5
CHOIAIZE 102,836 xW = 102,836 x4 = 411,344
2 A - 871,174 871,174| 703,398| 121,617 46,159
A
L 24| : 292,054.2 + 411,344 = 703,398
Mz el - 121,617
& Hl : 46,158
Hl © 871,173 871,173| 703,398| 121,617 46,158




1A dH| 5=

No =1 o 2 = & A L2 HEZH| i

1 DR 5Ton hr 89,786 47,231 7,790 34,765
2 AEEYO0IA (A 1.5kW hr 322 0 0 322
3 SAI(REAE) 0.2m hr 76,442 55,700 7,701 13,041
4 EHGHE Q! 5Ton hr 65,015 47,231 7,790 9,994
5 EHENE Y2 2Ton hr 59,863 47,231 4,430 8,202
6 OFAZEMHOIH(TILIA) 3.0m hr 126,947 55,700 17,707 53,540
7 U 22 (X=4) 10~12Ton hr 81,771 55,700 13,969 12,102
8 EHOI 222 (IU=F4!) 8~15Ton hr 86,155 55,700 12,526 17,929
9 EHE 222 (X=4)) 5~8Ton hr 71,735 55,700 7,510 8,525
10 |2RH(Et0IN) 0.25m hr 67,749 55,700 6,049 6,000
11 ZdI0lE SHY 1.5Ton hr 35,735 33,571 1,582 582
12 |=¥3 16000 £ hr 86,742 47,231 21,348 18,163
13 |OFAEE AZ0IN 400 £ hr 35,991 33,571 1,677 743
14 oo 119kW hr 161,912 102,836 42,823 16,253




7141 8H|

g g 2 s 2 A & A L2 MH=ZHI 3 H i )
1. DAFAX 5Ton 89,786 47,231 7,790 34,765
= = 133,818,000 ¥ x 2,598 x 10(-7) 34,765.9|'24%F HE
Tz 3 = 5.1 4 x 1,273 6,492.3
g = FH=9| 20. % x 6,492 1,298.4
St X2 AL 1. 0l x 226,709 x 1/8%16/12%25/20 47,231.
2. AEEH0I3(HI14]) 1.5kW 322 0 0 322
& = 1,289,000 Wx 2,500 x 10(-7) 322.2|'24%F HA
3. SAI(RSAZE) 0.2m 76,442 55,700 7,701 13,041
& = 62,550,000 Wx 2,085 x 10(-7) 13,041.6|'24% &
Sal=s IR 5.0 x 1,273 6,365.
& = FHZ9| 21. % x 6,365 1,336.6
ZEII A2 A 1. Q1 x 267,360 x 1/8+16/12%25/20 55,700.
4. ESHEEIY QI 5Ton 65,015 47,231 7,790 9,994
= = 38,469,000 Wx 2,598 x 10(-7) 9,994.2|'24%F MHE
FHE g = 514 x 1,273 6,492.3
g 3 FHI 9| 20. % x 6,492 1,298.4
S22 AL 1.0l x 226,709 x 1/8%16/12%25/20 47,231.
5. EEE I 2Ton 59,863 47,231 4,430 8,202
= = 31,574,000 Wx 2,598 x 10(-7) 8,202.9|'24%F MHA
o=z & = 2.9 4 x 1,273 3,691.7
g 3 FHI9| 20. % x 3,692 738.3
St=X2H A 1. 0l x 226,709 x 1/8%16/12%x25/20 47,231.




7141 8H|

g g 2 & = & A L2 MH=ZHI 3 H i )
6. OFAZEBOIH(LILIA) 3.0m 126,947 55,700 17,707 53,540
& =3 226,673,000 ¥ x 2,362 x 10(-7) 53,540.1|'24% W&
Tz =R 13. 2 x 1,273 16,549.
& = FH=9| 7. % % 16,549 1,158.4
&I H2EA 1.0l x 267,360 x 1/8+16/12%25/20 55,700.
7. 03E 22 (=4 10~12Ton 81,771 55,700 13,969 12,102
& = 67,161,000 Wx 1,802 x 10(-7) 12,102.4|'24% MHE
o= =R 9.3 4 x 1,273 11,838.9
& = FAHZ9 18. % x 11,839 2,131.
&I A2 A 1. 0l x 267,360 x 1/8%16/12%x25/20 55,700.
8. B0l 228 (Xt=4Al 8~15Ton 86, 155 55,700 12,526 17,929
& = 92,182,000 Wx 1,945 x 10(-7) 17,929.3|'24% HE
Saal= a8 8. 4 x 1,273 10, 184.
& = FHz9 23. % X 10,184 2,342.3
&I A2 A 1. el x 267,360 x 1/8%16/12x25/20 55,700.
9. Hel 22 (XNFA! 5~8Ton 71,735 55,700 7,510 8,525
& = 45,760,000 Wx 1,863 x 10(-7) 8,525.|'24% &
aal=s 3R 5.4 x 1,273 6,365.
& = FAHZ9 18. % x 6,365 1,145.7
AEIHS2E A 1. el x 267,360 x 1/8+16/12x25/20 55,700.
10. 2<LC(Et0I01) 0.25m 67,749 55,700 6,049 6,000
& = 28,780,000 Wx 2,085 x 10(-7) 6,000.6|'245F JHE




7141 8H|

¥ 3 2 a4 8 2 2
Foz 3.3 £ % 1,273
& = 4. % x 4,201

1. 0l x 267,360 x 1/8+16/12%25/20

1. 2 0IE =

2 a2 1,570,000 ¥ x 3,708 x 10(-7)
Foz 1.2 x 1,319

¥ = 20.% x 1,319

U H2H AL 1.0 x 161,142 x 1/8%16/12%25/20
12. 243

& =2 85,962,000 Wx 2,113 x 10(-7)
Foz A2 1292 x 1,273

¥ = Fo1z9 30.% x 16,422

B2 2T Al 1.0l x 226,709 x 1/8%16/12%25/20

13. OLAZE A

2,917,000 Wx 2,549 x 10(-7)

1.2 4 x 1,319

6. % x 1,583

1.0l x 161,142 x 1/8%16/12%x25/20

161,241,000 Wx 1,008 x 10(-7)

23.2 § % 1,273

45. % x 29,534




7141 8H|

02
o
i

&= 2 A g A L2 Y=l

3. 0l x 164,539 x 1/8%16/12%x25/20 102,836.8

kJ




74 | yoK=a | =
7 |7:" o H 10 7 Ly
2t (W) 7| 2% = H|
3l 3 8 =] I No = 49 T 4 tHe| T 7t

=He($) 1,289(2024.1.3 ZEH 4 |8 = { 1,273
(100 ¥) 930(2024.1.3 =EH 76 |2l Y & ¢ 1,319
QZ(E) 1,423.63/2024.1.2. OjO{ 7| =&
EENY)
o =) 1,641.92/2024.1.2. 04 7| =&
[P ES AlMZ D K24

No LA ALtk

1 1/8*16/12*25/20 0.208333333

2 1/8%16/12*25/20%24/15 0.333333333 4 H| &==1 002 "ot

3 1/8*16/12*25/20%12/10 0.25

4 1/8*16/12*25/20*14/12 0.243055556 = H| A1 0]2F "t

5 1/8*16/12*25/20%24/5 1

= R2H] 251012 Hot




ZAX |:|-7|.

- =1 L=
g 7 = =2 & Al L2 =] 3 tl i
22y Dgads MH 170m* 2 2,160,000 2,160,000
S88 gL IS A 1,000,000 1,000,000




N L

IHHEE 2= FS20t 238 Helor= AEIH
= g 7 & el = SEt inl
(=) page (= page | & JF| page (=l page | & Ot | page | & Ot | page
=dHQE KSM-6010 15322 (21 2) 4 4,916|590(24.1|  4,638|466(24. 1 3,300(508(24.1)  4,038|615(24.1) 3,300
A2 SE SC-2000, Hl = 4+H& Y 10,645|384(17.2) 10,645
HIZAAA 024 1 6,737|594(24.1) 6,737|512(24.1|  6,737|620(24.1) 6,737
& = L 1,273]2024 .1 1,273
TUHE SH2ALS2E(Leverd | EA 38,000(577(24.1) 38,000
AHE ka 120{105(22. 1) 123[102(22.2) 120|®
2ch m 35,000(102(22.1.) 50,000(99(22.1) 35,000
THEZ2AM K-630,Z==2E=& ,40~64 EA 45,000(575(24.1| 45,000(454(24.1) 45,000
eeEd (M) 1200 x 2400 OH 185,550(502(24 . 1| 185,550(507(24.1) 188,550|745(24.1) 185,550
EtLAIHE 22| M kg 240(68(24.1) 240(64(24.1) 240
EtLAIHE ATEEE WM kg 228|68(24.1) 228|64(24.1) 228
Ol = Al Zetolt kg 4,600(518(18.4) 5,000|138(15.12) 4,600
AHE NS Al G700 kg 9,000(469(24.1) 9,000
EtEET RECOH-PUTTY ka 6,500(491(24.1) 6,500
Jdetelde 18cm EA 49,000|103( 16X 49,000| & &HE
TS HZAl G7 ka 18,000(469(24. 1) 18,000
OIZAIA AU YA 3,000(649(22.4) 3,000(624(22.7) 3,000|0tHALEE
ASEFAIINE set 500(84(24.1) 750|144(24.1) 500
LetE=E H 25,000 25,000
23Rel(5Y) 6mm/2148%3048 m 21,800|588(24.1| 21,900(463(24.1 21,9001569(24.1| 21,600(665(24.1) 21,600
ot=7 E¥Y A/ S H 25,000 25,000
CXE o &X DUA ZHEE H 180,000 180,000
=&27] N 22X H 100,000(668(24.1) 100,000
22Etzg, St 1:1 m 158,630(71(24.1)| 164,800|66(24.1)| 163,170|58(24.1)| 151,270(109(24.1) 151,270
HEEMU D/ ES 300,000 300,000
=& 27 NEE H 74,000(668(24.1) 74,000




N L

= o S cio IHHEE 2= FS20t 238 Helor= AEIH S
& Ot page = Ot page | © Ot | page = page | & OJt| page | & DOt | page

2 A HESZEH kg 2,026|5t122(24.1) 2,026

STHEHL (RHI1E) 150 % 150 x 15 m 31,000(460(24.1) 31,000

& EN 6000 ¢ /& 4 3|0t33(24. 3[1190(24. 3|1482(24. 3[1451(24.1) 3|01
OtMIE &l 9% (BEE) ka 27,300|5t33(24.| 23,700(1190(24. 39,000(1482(24.| 42,000(1451(24.1) 23,700

CHEH D] MAL ALOIE HE BD| = 148,000(873(24. 1) 148,000

1 E JEA ka -365|5t47(24. -347/1198(24. -265|587(24. =370(1472(24.1) -370

EZ2 08X 2372l 2(K-8300) EA 77,000|574(24.1| 77,000(455(24.1) 77,000

IMES=IPN 150kg0lSt,K1400 ES 25,000(573(24.1) 25,000

2 E S0l = SLINE m 4,750(724(24.2.) 4,750

2227 M 2,820 2,820

##IH0HZ 303 0.2t, 100mm=*15m m 710 710

AL BHE 0.3%30W M 360 360

@42 900 x 2100 x 40 H 448,000/ (550(24.| 450,000|638(19.9) 448,000
SHUNE(OAIIE) 1200xt30mm m 26,400 26,400| A8 E S
SHIHE(OFUIHE) 1500x t 30mm m 33,000 33,000(Al8HS
SHUNE(OAIIE) 1800xt30mm m 39,600 39,600 Al8HS
SR M| SIISU MBS 270 | A HHHHHH 1,040,000

=R | IS =43 68014 | A HHHHHH 4,040,000

=ctele AX| =43 MU A HHHHHH 2,519,754
ZHHIEHCE KSM-6030 1& 3% Y 14,261|589(24.1| 13,266|466(24. 1 10, 120|508(24. 1) 10, 120
AUH(ZEHUEE) KSM-6060(2F ) L 3,583(466(24 .1 2,708|508(24.1|  3,477(615(24.1) 2,708
SHEEE=S Y 24,000(634(23.7) 24,000

H El 319IHEl, 3| A4 ] 3,491|599(24.1|  4,849]469(24.1) 3,491
TEESTSAR2 2 50%50, 2.0T M 26,930|38(24.1)| 30,870(39(24.1) 35,800125(24.1)| 18,410(76(24.1) 18,410
ZlHEx2EE CPU-M50 ] 1,700(123(18.2) 1,700
AR2ICIETZEAH ka 17,000(84(24.1)| 17,000(72(24.1) 13,000/505(24.1| 17,000(148(24.1) 13,000




N L

IHHEE EtRE FS20t 238 Helor= AEIH
= =3 7 & el HgHJ| Hl 1
& Ot page = Ot page | © Ot | page = page | & OJt| page | & DOt | page

TEESTSAR2 2 30%30, 2.0T M 15,900(38(24.1)| 18,190(39(24.1) 21,200125(24.1)| 10,860|76(24.1) 10,860
STS'H &4 2+ EH(STS304 2B) 5.0T Ton 3,900,000(30(24. 1)| ####### |36(24.1)|3,940,000(26(24 . 1)| ###HHH# | 72(24.1) 3,800,000
KE HBH(STS) @ 10mm+*75mm EA 710|53(24.1) 710(53(24.1) 520(96(24.1) 520
TXEESTSRE & ©50.8, 2.0T M 20,470(37(24.1)| 22,740|38(24.1) 22,985|24(24.1)| 13,960(77(24.1) 13,960
HOI2xeldl SEHLEHME Ton 68,359|5t151(24.1) 68,359|473(24| 67,377|1583(24.1) 67,377 \VATE = (2
HO|IS2EHHI (A X ZE) 30kmOIot, E 2 15& Ton 22,120|5+150(24. 1) 22,120|1584(24.1) 22,120|VATE & (2
CHE Dl WAl SHHII > 2B (200 ) Al HHHHHH 2,360,000
=2 &M 1000%400 EA 180,000 180,000 A8 S
=== &M 700%700 EA 200,000 200,000/ A8 HS
LEDEHZZ & LIS SST-1085,2W EA 14,600 14,600| A8 S
LEIILHE(EH) 3+6, 10T OH 152,000(1481(24.| 226,000|1462(24.1) 152,000
HSU2 SXIZs Al HHHHHEHE 7,700,000
sl 222 J1%A F2 M H 500,000 500,000
2d, A2, &= 222 m 38,000(62(24.1)| 37,000(61(24.1) 36,000155(24.1) 36,000
ANSRZ, M2, &% #467, 40mm m’ 30,000|62(24.1) 30,000
STSH o 2+ EH(STS304 28) 2.0t ka 3,500(30(24.1)| 3,636|36(24.1) 3,870(26(24.1)|  3,850|72(24.1) 3,500
SHEEE= QAUAH QI YA 24,000(634(24.1) 24,000
ZEHUE KSM-6020 12 (24 44) L 7,455(589(24.1| 10,277|466(24.1 6,066(508(24.1| 10,277|615(24.1) 6,066
STSLZ o 2+ EH(STS304) 6.0T Ton 3,400,000(32(24.1) 3,740,000(25(24. 1) | it |73(24.1) 3,400,000
=g Hol=Z 50mm m 1,867|555('24.2) 1,867
JeH= et 7.3 x 2.4m / NS, Jda Al HHHHHEHE it
0= Al=XIHCE HZOHEY) L 8,381(601(24.1| 8,381|477(24.1) 8,381
Ol = AIH Zetol YA 6,300(649(22.4) 6,300(624(22.7) 6,300|0tH L g
YR Y 1,319]2024 .1 ‘ 1,319| 23
22U &, D10 % L300mm EA 600(397(23.7) 600
olgH X ZL§ N \ 435,455 435,455




I T}

No = = A 2 = (= Hl )
1 |sSgag ol 214,222|2024 (4})
2 |2sae ol 165,545 |2024'A (&)
3 == 2 ol 250,776 |2024\H (&)
4 |8 353 ol 248,238 2024\ (4)
5 |01 &3 ol 266,787 |2024\H (&)
6 |22 =2 ol 200,603 2024\ (44)
7 |BEX2FA ol 226,709 2024\ (&)
8 |22 ol 204,285 2024\ (4)
9 |EZ3 ol 274,325 2024\ (&)
10 |E==2 ol 195,370 2024\ (&)
1" o|ga 3 ol 247,643 |2024\H (&)
2 |8 & ol 164,539|2022E (&) - = A ZIH8 8t
13 |99 43 ol 213,253 2024\ (&)
14 |8 2= ol 229,482 2024\ (&)
15 |& a3 ol 210,152 2024\ (&)
6 282 ol 267,021 (2024 (&)
17 |AEIH2F A ol 267,360 2024\ (&)
18 |2 = ol 233,754 (20241 (&)
19 |2 33 ol 243,126 |2024\H (&)
20 |UAaXZ ol 270,251 (2024 (&)
21 |2AER ol 261,283 2024\ (&)
2 |z &z ol 258,360 2024\ (&)
23 |LED|IH2F A ol 161, 1422024\ (&)
24 |= ¥ = ol 203,631(2023 (&)




